Jean-Paul borrows $2500 to purchase a
laptop computer and software. He takes out
a personal loan from his credit union at an

annual rate of 6.25% with an amortization PERSONAL LOAN PAYMENT C:Al £111 ATAR:
period of 2 years. Use the personal loan MONTHLY "““f:&;;;ﬂ:g:#:gﬂ“““““
payment calculator table (page 132) to Interestrate (%) | Term in years
answer the questions. ! 2 3 4 5
3.00 B4.69 42498 29.08 2213 1797
1. What is Jean-Paul's monthly payment?l %% (%8 @ (=68 |2z (68,
5.00 B5.61 4387 29497 23.03 1B.87
5.25 B5.72 4398 30.08 2314 18.99
2500/1000 =2.5 4443 x2.5= $111.08 5.50 8584 4210 3020 73.26 18.10
575 f5.95 4421 303 2337 19.22
6.00 BE.O7 4432 3042 2349 19.33
. B6.25 BB 44.43 3054 2360 19.45
2. Calculate the total amount he will pay 550 8530|4455 |a0es |7 |1957
over the 2 years 6.75 BB.41 | 44 66 3076 2383 19.68
’ 100 BE.53 4477 30.88 23.95 19.80

$111.08 x 24months = $2665.92

3. Calculate the finance charge on the loan.

2665.92 - 2500 = $165.92
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